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DNA Completion

1. DNA stands for ____________________

2. DNA is a type of ____________________ because it is a large molecule made up of smaller subunits.  

3. The smaller subunits are called ____________________. 

4. Each DNA nucleotide is made up of three parts.  The three parts are ____________________, ____________________ and ____________________.

5. There are __________ different nucleotides in a DNA molecule.  They are different because of the ____________________.  The 4 nitrogenous bases are ​​​____________________, ____________________, ____________________ and ____________________.

6. Nitrogenous bases that are made up of double-ring structures are called ____________________. ____________________ and ____________________ have double-ring structures.

7. Nitrogenous bases that are made up of single-ring structures are called ____________________. ____________________ and ____________________ have single-ring structures.

8. DNA is called a ____________________ because it is made up of two complementary strands that are twisted.  

9. The two strands are held together by ____________________ between the base pairs.

10. A principal called ____________________ states that ____________________ pairs with thymine, and ____________________ pairs with cytosine.

